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Sno Question
While isolating DV, the position of the handle in relation to rail line shall be
SHAT FI B4 AT A ATsA D T H 859 Sl YT el ©

1 Option A Option B Option C Option D g;x::
English |Horizontal Vertical Lateral None of the above
Hindi [&fa9 CIGE] RIE] suﬁ?ﬁﬁﬁagsa's?fA
The maximum standard buffer height above rail level to center of buffer is
T TR T T B ALY qF NAFIH AR THT Dl SATS ......... T 2

2 Option A Option B Option C Option D g’g;l‘:::
English [1085mm 1100mm 1105mm 1030mm
Hindi [1085/&#T 110073 11os e 1030THHT F
The brake power of coaching stock at originating point is %

TRINF e 1T % THITSET T &l 3 UTaT el &

3 Option A Option B Option C Option D gggf::
English |90% 100% 85% 95% B
Hindi |90% 100% 85% 95%

Paternity Leave can be granted within ........ months of child’s birth.
Tgea FaHTT TeF S ToH B ... AT B HIAT 8T IT THaT 2

4 Option A Option B Option C Option D gggf::
English |6 8 10 12 A
Hindi |6 8 10 12
Permitted luggauge allowed for Il class passenge is
Tt A0 ataT & 1o AT oo 2

5 Option A Option B Option C Option D Xﬁ?;:rt
English|35 Kg/head 50 Kg/head 70 Kg/head 100 Kg/head
Hindi |35{%en/8s 50TheNTITH /25 70 feenamA/s 100TFeTITH /35 ®




Piston stroke (coach) of bogie mounted brake cylinder is

TEE (FA3LS) 3% ez o7 e T @) ........... 2.

. . . . Correct
6 Option A Option B Option C Option D Answer
English [28mm 32mm 36mm 38mm B
Hindi |28 &= 32 T&aY 36 THEAT 38 TH#T
AC in a coach stands as
Hre A T F YT YT /T &
. . . . Correct
7 Option A Option B Option C Option D Answer
English [Air Cooling Air Conditioning Air Circulation Anti Clockwise
— - = B
Hindi |3TAT{Re AT RAT T qRE=TOr T FATH SRS
Full form of BC is
Y o7 Feaw 77 @
. c 3 . Correct
8 Option A Option B Option C Option D Answer
English |Bogie Cylinder Brake Cylinder Bolster Coil None of the above B
Hindi |97 R IF Rz FreTeT P YU & & HIg T
BP pressure in working train is
oo« ST & AT 19 8T 8-
c . . : Correct
9 Option A Option B Option C Option D Answer
English|6.0 Kg/ Cm2 5.5 Kg/ Cm2 5.0 Kg/ Cm2 15.2 Kg/ Cm2 C
Hindi |6.0fFell/aatdalr |5 stretiamer/aatdslt|s.ofpeiomar/aatdst |15, 2Treiramer/aatdett
Condemning height of flange on tread on BG wheel is
IS Y & TAES) W H5H T AT TG, DITAT) DI SATRvevernceemerenrenens 2.
s o ¥ . Correct
10 Option A Option B Option C Option D Anbwer
English{30.0 mm 32.0 mm 34.0 mm 35.0 mm b
Hindi [30.0 T8 32.0 T 34.0 THHAT 35.0 TH&AT
Minimum diameters of wheel on tread on BOXN wagon during serice is
G B A SALFIYA A B wgeAdH 25 seldl bl SHHIST Il &
q . . . Correct
11 Option A Option B Option C Option D Answer
English [ 1000mm 960mm 906mm 915mm c
Hindi 100073 960THHT 906THHT 915t
What do you mean by CC rakes
At 3F T IMUST ST 4T 2
. . . . Correct
12 Option A Option B Option C Option D Answer
English gg(rj\tented contact Close circuit rake Complete coal rake None of the above
Hindi ST IHE 1P TqH HIIAT IE 3UAKH # & |/ 7
BP pressure in working train is
el ST A AU BT T oo BT ®
. . . . Correct
13 Option A Option B Option C Option D Answer
English 6.0+ 0.1Kg/cm2 |5.5% 0.1 Kg/cm2 5.0+ 0.1 Kg/cm2 5.2+ 0.1 Kg/cm2
RaT C
Hindi 337 O 7 15.520.1 Ream/@h2 [5.0£0.1 Rram/Asi2  [5.220.1 Ream/ e




The standard of BOXN train consists of wagons.
FTSNTFITCS g1 FT ATARIGIO T B B

14 Option A Option B Option C Option D g;)lg:’::
English 58 Wagons 59 Wagons 60 Wagons None
Hindi |58 ST 59 ST 60 AT xO e °
Cut off angle cock can be fitted to
FC ITF WA BB B oo, # s (e foFam) ST @edr 2 .

15 Option A Option B Option C Option D gflg:::
English (FP BP BP & FP both None of the above
Hindi [T ey a7 wd A [ S e A |
Paternity leave is granted for. days.
e srEaraT et & Torg Tz s 2

16 Option A Option B Option C Option D gﬁ::f:;
English (15 20 30 40 A
Hindi |15 20 30 40
What is the weakest link of the center buffer coupler?
TTT THY HLo & AqH HAWR T el ol

17 Option A Option B Option C Option D Xg::::
English (Knuckle Draft gear Lock Yoke pin
Hindi |5l 3TFe TRTT EIED s et A

How many days of LAP in a

calendar year, a permanent/ Temporary Railway servant shall be entitled to get?

T& HAUST I8 H T TUTH/FTYUTT I o [haet [aAT BT AAGELT U Bl THAR BH?

18 Option A Option B Option C Option D Xg::::rt
English |20 days 15 days 30 days 45 days
Hindi |20 f&=1 15 &=t 30 o=t 45 o=t ¢
Rs.16 register is for.
T.16 I & o 2

19 Option A Option B Option C Option D Correct
English (Sick Memo Fit memo Air Brake BPC Theft memo
Hindi |/0® A9 fre 7 T e T T A A

Test to be performed when shunting is performed in a train

ST # AT Fa AT T ST arel greTon BT ®

20 Option A Option B Option C Option D g;)lg:::
English ?Lrng;isi:;re Brake feel Brake power test None of the above
Hindi |31 39 aear |35 R FF YTaT TLIETOr UG & @ FIE 6l
In one BOXN wagon total no. of brake block are
T SIATFIA A H R A scllehl Dl G&IT BT o=

21 Option A Option B Option C Option D gggf::
English 4 12 16 B
Hindi (4 8 12 16




The total no. of MU washer used in a twin pipe passenger coach in a rake is

Tl 3@ # -UTsy GUWR Y F TENT (HY I qTel THY, AT B FA GE6qT

. . . . Correct
22 Option A Option B Option C Option D Answer
English|3 4 2 B
Hindi |3 4 2
The colour of feed pipe in twin pipe wagon is
3IET UTET 1T # BT ITET ST QT &1 2
. . . . Correct
23 Option A Option B Option C Option D Answer
English [Black Yellow Green White b
Hindi |s3T% drerm B ThT
Full form of AR is
THR T qH T R e
. c 3 . Correct
24 Option A Option B Option C Option D Answer
English |Accident reservoir |Axle reservoir Auxilliary reservoir None of the above c
Hindi |91 ST |4 AT TETEH JAIT TR @ BrE o T
SG word in a coach stands for
Fg A TES AT FT 3T e
c . . : Correct
- Option A Option B Option C Option D Answer
. . . Self Generating .
English (Standard Gauge Standard dimension Schedule dimention Self generation ;
Hindi |A<® 39 HTTH STHR mﬁg"q‘ W“ LSRG T FAA
Validity of half set of PTO is .
I & S e Hr Jerar R
. = . : Correct
26 Option A Option B Option C Option D Answer
English (4 months 5 months 6 months 3 months B
Hindi |4 #ATA 5 HeI= 6 FeI= 3 Hels
For by pass the brake pipe special device essential is
% UTZT FT 9% UG HLA D [OQ ST TUT STRI Sl ©
. . 4 . Correct
27 Option A Option B Option C Option D Answer
English [FP&BP exhauster |FP&BP reactor By pass coupler BP FP jointer
O C
Hindi |ST T T S qﬁ%”‘fam% : T I F S T ST
Total no.of berths in AC-Il tier is
TR TR # q B A TS oo Bl ®.
. . . . Correct
28 Option A Option B Option C Option D Answer
English (42 44 46 64 C
Hindi |42 44 46 64
Passenger emergency alarm signal device are mounted on the
AT SATABIATT FATH TRATAT Gt T N Bl B
. . . . Correct
29 Option A Option B Option C Option D Answer
English [Under frame side panel end wall Roof panel c
Hindi |fo=erm zran EEREC] BT AR ELRGE]




What should be the brake pipe pressure in engine?

o & 9% UTRY 1§ F4T 2

30 Option A Option B Option C Option D g;)lg:’::
English (4.8 Kg/Cm2 4.7 Kg/ Cm2 5.0 Kg7 Cm2 6.0 Kg7 Cm2 C
Hindi |4.8fFelt/aatdet  |4.7fFeamer/aaTda | 5. ofpeioma/aadat 6.0 Terciiamer/aatde
At what interval, the intensive cleaning of any coach is?

R off T A TS TETE B FAIS U BT 89

31 Option A Option B Option C Option D gflg:::
English [Three month One month Six month Eight month B
Hindi |dI=T #FeI= T& HATE o% A= S A=
What shall be the period for POH for a coach attached to Mail/ Express train?

AA/TFIIT 2 @ o DT D U Dl S 9T e[

32 Option A Option B Option C Option D gﬁ::f:;
English (9 months 12 month 18 month 24 month c
Hindi |9 #ES 12 FES 18 HETS 4TS
The code of vestibule, self generated, Air conditioned, two tier coach
TIG I, qATH, &1 O S &l ATeesgd HT HIS eidl .

33 Option A Option B Option C Option D Xg::::
English|ACCN WGACCW WGSCN SLRD B
Hindi |G@RICA S H IS0y |SeySiu@adI g GHTARLST
Periodicity of examination for CC rake of BLC type stock days.

AT FR T B TSIH AT 3@ & oI IL&r AaeqT &=

34 Option A Option B Option C Option D Xg::::rt
English |20 days 12+3days 35 days 30 days 5
Hindi |20 f&=1 123w 35 fa=t 30t
For miscarriage including abortion what period of Maternity leave may be granted"

T WEHT H AT Geel [+ (el a& &F Sl 2

35 Option A Option B Option C Option D Correct
English|(6 Weeks 30 days 7 Weeks 45 days b
Hindi |6 9d® 30 o= 7 OETE 45 fo=T
How many emergency windows provided in AC ICF/RCF coaches are
FTEHTH/ ATHTE F FIAT FHrET A [hdell MYTARTNT [FSTRTT @t B 89

36 Option A Option B Option C Option D g;)lg:::
English [Two Three Four Five c
Hindi |37 = T =
At what interval IOH of ICF coaches is done
ATEEITE FrET BT 3. AT, 75T 3iaer o fovar S 2

Option A Option B Option C Option D g;gf::

37

English [Two month Three Six month+7 days 9 month+£30 days
monthx15days - - b

T TE=

Hindi

T JEH + 15
o=

e e + 7 R=

9 HES + 30 =T




How much air pressure should be dropped in brake van/ last vehicle for continuity test?

AR GO0 & FAHT A1/ AT 7 hd=T TIT 9 gedT 2

. . . . Correct
38 Option A Option B Option C Option D Answer
English (0.8 Kg/Cmz2 1.0 Kg7Cm2 1.2 Kg/Cm2 1.5 Kg/Cm2 B
Hindi |0.8fFelt/aat @4t |1.0fFetramer/aaTdt | 1. 2fFenama/aarder 1.5 e /aaTd T
What should be the minimum buffer height after POH?
dr3T" & 9% THT A 3ars Toha= Sr=r AR T?
. . . . Correct
39 Option A Option B Option C Option D Answer
English {1050 mm 1060 mm 1080 mm 1090 mm b
Hindi [1050 T&&Y 1060 TRHAT 1080 TRHT 1090 TR#T
General target time for turning out MRV with direct / indirect despatch facility is minutes.
TeI&/ ST U0 GITYT B TTY THALET BT T A & (¢ AT A% 5ad TH7g e 2
. c 3 . Correct
40 Option A Option B Option C Option D Answer
English (30 40 20 25 c
Hindi (30 40 20 25
The enroute Brake power percentage of goods train should be
HATETST & T Jh UL Dl TTITT -------- yiqard # 8=t &
c . . : Correct
411 Option A Option B Option C Option D Answer
English|85% 75% 95% 90% D
Hindi |85% 75% 95% 90%
In wagon, hand brake is used when
T A, FF 25 9% BT 3TN [HTT ST 2
s . ¥ . Correct
2 Option A Option B Option C Option D Anbwer
English [Standing in yard ggandr}:anngt In down Running in up gradient [None of the above
< A
Hindi ﬁ%@g G T OIS | T FEd U FIe  [3UUh A & §{S A6l
The BP pressure in Brake Van of 56 -BOXN wagon load should not be less than
56 -SINTFHATT FT ART S ATT H YT T T HHF TS BT AMEY
. . 4 . Correct
43 Option A Option B Option C Option D Answer
English (4.5kg/ Cm2 3.7 kg7 Cm2 4.8 kg/ Cm2 5.8kg/ Cm2 c
Hindi |4.50et/qa1der  |3.7TFenamer/aadet |4 sipeiama/aadsr |5, sTereiamsr/aardstt
Bogie wheelbase of ICF/ RCF all coil bogies are
TR/ ATETE B AT Hgel SETDT BT TR TIEDAT STETT oo 2
. . . . Correct
44 Option A Option B Option C Option D Answer
English 2896 mm 2986 mm 2886 mm 2997 mm A
Hindi (2896 &= 2986 THHAT 2886 THHAT 2997 TH#AT

45

The material which is no longer useful to Railways for the purpose for which it was originally purchased or

obtained is called as

ekl 99 3237 & ToU (0@ & 3UANT & o0 Jof €7 @ GART A1 WH Fohar 730 o7 3T 3uANT e

AT dF el AT © &I HeT Al &
. . . . Correct
Option A Option B Option C Option D Answer
English(Scrap material Fresh material Transferred material None of the above A
Hindi |T& Qo GISURICE TYAANT AT 3UUH A & HIg 61




What is the Std. thickness of brake block of BOXN wagon is

TTATFHTA AT D TP Sl I HATAP HICTs (b= &l

. . . . Correct
46 Option A Option B Option C Option D Answer
English (52mm 54mm 56mm 58mm b
Hindi |5273=0 54T s 5gTaaT
Which of the following items need not to be verified-
Treaf@d # @ FF AT F7 ToUT ST A AT HAT T e
. . . . Correct
. Option A Option B Option C Option D Answer
. Petty consumable DeadStock, Tools &
English [Dunnage stores Plants of low value All of the above ;
. : TS, AT &
Hindi |39 BIC IUHIST S T B A T ERNEZE)
tablets are used in the bio toilets.
T Qe & TSt ST ITANET far ST 2
. ) 5 p Correct
48 Option A Option B Option C Option D Answer
English |Chlorine Plastic Aluminium None of the above A
Hindi | TATEEH FGATTH 3UTh A & g A6l
What is the diameter of branch pipe in between PEAV to PEASD?
Triudr & NECuAsr & S qTEr uET T A FAT 89
. . s . Correct
49 Option A Option B Option C Option D Answer
English(10.0 mm 25.0 mm 30.0 mm 20.0 mm A
Hindi [10.0 T8 25.0 Ty 30.0 THAT 20.0 THAT
During charging position, Air pressure in Auxiliary reservoir is
HTOET YT & AT, TEMTD TANT A G T oo BT
. = . : Correct
50 Option A Option B Option C Option D Answer
English (6.5 Kg/cm2 6.1 Kg/cm2 6.0 Kg/cm2 None of the above c
Hindi [6.5 fFam/@s2  [6.1 fFam/aem2 6.0 ToRaT/TFT2 TAH T HIg o 60
The diameter of Std. Air brake Pressure gauge is
TIT % VAT IS HT ATAH SATHET Bt &
. . 4 . Correct
51 Option A Option B Option C Option D Answer
English 60mm 70mm 90mm 100mm b
Hindi |60T3Y 7ofFaT gofH#Y 100TR#T
Who is the competent authority to sanction study leave to the officers abroad/foreign contries?
FATYETET Y [ARU/TRY & FEATT TR TR HIA B oY T&HHA UTTARNT FIeT 29
. . . . Correct
52 Option A Option B Option C Option D Answer
English (Railway Board CPO AGM Dy.CPO A
Hindi |[3&@ 95 T FIT HET TNGH 3T HFHIHE
Which type of air brake system being used in LHB coaching stock?
TATFHT HITRAT T2 A [T YHIT BT 9 FoTell STAHET {ohar Jrar 2
. . . . Correct
-3 Option A Option B Option C Option D Answer
. 1 |Single pipe air Twin pipe disc Twin pipe air brake Vacuum brake
English
brake system brake system system system B
Hindi gww %@%W%m %WW%W*WWWW




What type of roller bearing

used in BLC wagon?

AT T F 5T UK & Tk [9=ar &1 3gger fear s 2.

. . . . Correct
Option A Option B Option C Option D Answer
54 Tapered two-row
English |Cartage type cartridge roller Sparical type plan bearing
bearing B
mindi |2y s (TS ST T i g [ fi
What is MI stands for in BOXN MI?
FACFITT THITE F THAATE FT FY 4T oF
. . . . Correct
55 Option A Option B Option C Option D Answer
English | Modification 1 Modification 2 Modification 4 None of the above A
Hindi |TVe 1 T 2 T 4 3UAH A T FHIE ACT
The thickness BG wheel flange of high-speed train coach is
3= 11T IMST ST B T57 AT YIS Felol DI HIETs Bl 2.
. . q 5 Correct
56 Option A Option B Option C Option D Answer
English|28.50mm 27.50mm 29.4mm 29.50mm C
Hindi |28.50f3# 27 50T 29.4THHT 29,50
Reduction in BP pressure for minimum application is
ATH FATA B T A T Bl e T Herl ©.
. s : . Correct
57 Option A Option B Option C Option D Answer
English (1.0 to1.5 Kg/cm2 |0.8 to 1.0 Kg/cm2 |0.5 to 0.8 Kg/cm2 0.1 to 05 Kg/cm2
. . |1.0 F15 0.8 ¥ 1.0 C
Hindi | 2o . 0.5 @ 0.8 TFar/@#2 0.1 @ 05 TeRam/Fe2
Reduction in BP pressure for service application is
[T FFIART B T I T BT e, T TeT! ®.
o . . . Correct
58 Option A Option B Option C Option D Answer
English (1.0 to 05 Kg/cm2 [1.0 to 1.5 Kg/cm2 |0.5 to 0.8 Kg/cm 2 0.8 to 1.0 Kg/cm2
. .. |1.0F 05 1.0 T 1.5 0.8 ¥ 1.0 D
Hindi |fom/aee R/ 0.5 & 08 TaI/AH 2 |y ey
Maximum time for CC rake examination is
At 3 ude & o sifewan g9 ©
. . q . Correct
59 Option A Option B Option C Option D Answer
English |4 Hours 6 Hours 8 Hours 4.5 Hours B
Hindi |91 9 6 9C 8 9 4.5 92
The en-route brake power percentages of M/E BG coaching train is
AT/TFIUT Aol PIEET oA BT AQTEY §h UG Yiaq9d 2
. . . . Correct
60 Option A Option B Option C Option D Answer
English [85% 90% 100% Not specified B
Hindi |85% 0.9 100.00% Aty wdt @
The axle load of BOXN,BCN,BRN,BOBR,BTPN wagon is
HATFACA, NG, NHILA,SHAHL AT A7 ol G QT 8l @
. . . . Correct
61 Option A Option B Option C Option D Answer
English|22.9t 20.32t 16.6t 12.2t A
Hindi |22.97 20.32f¢ 16.6f¢ 12.2f




Yellow strips on end body of ICF indicate is

FTEATE P FAAS I 37T UL Uiell GgiETT T QAT F47 2

. . . . Correct
62 Option A Option B Option C Option D Answer
English |Anti telescopic Dual brake Inbuilt air brake Non Anti telescopic
Hindi |G SATHITUF (3T 9F FeE AT TR 9% [ SeewiuE
What is the principle of brake system used on LHB coaches?
TATTST FIEr A SUATRIT S YUTel &1 R¥gTa 97 o2
. . . . Correct
Option A Option B Option C Option D Answer
63 : . : — : — . :
. 1 |Single pipe air Twin pipe air brake |Twin pipe with disc
English brake system system brake air brake system None of these
e T TR & AqY C
Hindi |Sooponil T8 2SI TP e 7% TR AF |5 @
The leverage Ration in BOXN wagon is obtained by
NATEFITA T H STASY TATHA H U (59 & YT STl ©
. . q 5 Correct
64 Option A Option B Option C Option D Answer
English |Brake cylinder Tie Rod Empty Rod L/E Device b
Hindi |3% st TR As Tell U5 Te/% SUSIO
A male railway servant may be granted Paternity leave having serviving children?
TF Y I HAGR Bl F=2 B T TUged Gl &F ol o9
. s : . Correct
65 Option A Option B Option C Option D Answer
English |2 1 3 No limit A
Hindi |2 1 3 I & foe
The function of non-return valve used in air brake system is
TIT 9F FOMel H TGh FATT e BT TD oo 2.
. 4 - . Correct
6 Option A Option B Option C Option D Answer
. To prevent flow of |To prevent CR to be To prevent flow of
Englisii¥oiredticelER air from AR to FP  |charged air from CR to BP
Hindi |476r Sear THR T TRUT % (TR F 9 81 @ (WA T 9 g
g BT Jare =T g &I gare
How many day of LHAP can be accumulated to an employee in his service.
TF FHAN YA a1 # (e QoA S Y 3. T THaT I1ar 2
. . q . Correct
67 Option A Option B Option C Option D Answer
English (300 days 240 days 360 days Unlimited b
Hindi (300 &= 240 &1 360 TasT T Tea
The function of dirt collector is to segregate dirt particle from the air
AT TUTEH BT F..onernnenn. g & el & HU Dl FHAHT DA B.
. . . . Correct
68 Option A Option B Option C Option D Answer
English (after coming DV  |Before coming DV  |Both (a) & (b) None of the above
Hindi (397 39 & 9 (ST a9 @ Ugat |40 (D) 3R @) TAH T Big AT eI




The type of dirt collector, used in wagon is

1T F IUMAT 3¢ Folged, FT THR &

. . . . Correct
6 Option A Option B Option C Option D Answer
English | 2-way 3-way g:;anch Pipe of BP to In BP
- B
Hindi |2-3 C) lGICICRUE S CE LR A
RIER]
The brake power of CC rake from nodal point is
s taTEe T WY I H FAF UraT et B
. . . . Correct
70 Option A Option B Option C Option D Answer
English |90% 100% 85% 75% B
Hindi |90% 100% 85% 75%
Surplus items are
Toiq AZ 3 Bid B
. : 5 p Correct
Option A Option B Option C Option D Answer
71 :
. 1 |ltem not moved Iltem not moved for |ltem having more than
English for 12 months 24 months 12 month Stock LI Gl
12 AT B g [24 7= & forg b B
Hindi [AT Tl A6l (AT TN ASl ;ﬁ;ﬁ?ﬁm T A © q{B TEI
T o I
FP charges
TRYT IS 4T § a1
d . 3 . Correct
72 Option A Option B Option C Option D Answer
English AR CR DV BP A
Hindi |3 dram grar rdt
Trip Maintenance Schedule i.e. D1 of LHB coach is done
QAT el T 311 T FLEAT A5G Bl &
q . 1 : Correct
73 Option A Option B Option C Option D Answer
English |7+1 days 15 days Every trip 30 days c
Hindi |7#1 R 15fe= T OE I A 30fe=T
What is the nominal thickness of elastomeric pad of Casnub bogie?
FIAT T P TAECIANS U5 I AT HIETS [hd=il BT 22
. . q . Correct
74 Option A Option B Option C Option D Answer
English 49mm 46mm 48mm 52mm B
Hindi |49T&aT a6t 4T 52T
Gazetted officer is eligible for sets of Privilage passes in a year.
U ATYHET TF a9 A e YT T & (o s 2
. . . . Correct
75 Option A Option B Option C Option D Answer
English |6 sets. 4 sets 3 sets 5 sets A
Hindi |6 d¢ 4 e 3 dgd 5 d¢
The max. Air prssure in BC during application is
FATIET & QA ST AT # FAHAHA 1 &9 €l e
. . . . Correct
76 Option A Option B Option C Option D Answer
English 4.8+1Kg/Cmz2 5.0Kg7Cm2 3.8+0.1Kg/Cmz2 3.8+Kg/Cm2 C
Hindi |4.8+ 1T /aeTd# T | 5. 0fFeiramer/aaTd#t| 3.8:+0. 1FFenanma/aaTd# T | 3.8+ fpenama/aaTda T




in the passenger the diameter of branch pipe is

TS &, 99 UT5Y HT ST 8T &

. . . . Correct
77 Option A Option B Option C Option D Answer
English (15.0mm 18.0mm 20.0mm 22.0mm C
Hindi |15.0/&&T 18.0TH=T 20.0TT 22.0TH T
Clevis and Clevis pin are the part of
FART qUT FATAT TUT =------ T YHWT 2
. . . . Correct
78 Option A Option B Option C Option D Answer
. , |Alliance - I Non-transition .
English coupler coupler Transition coupler Draw bar c
Hindi |3TToAT- || FTaT [T IRET Hoa [T BT 3 I
How many days are granted as Child care Leave
Hees AL old & T & [hae &« QAT FaT &
. ; . . Correct
-0 Option A Option B Option C Option D Answer
. 1 |730 days in entire
English tenure 500 days 350 days 900 days .
. R EEE A
Hindi |2 "6 500 f&=1 350 =1 900 f&=1
Distance between the control rod head and the barrel of SAB is named as
QHYST & 50 S 85 JUT I I S 7 G Dl HET o1l © -
. s : . Correct
80 Option A Option B Option C Option D Answer
English (E' dimension C' dimension A' dimension d' dimension c
Hindi |S3@R 3t T FHR 3T B
The minimum wheel gauge of Goods wagon is
AT TS558 &7 GATH T T e
. 4 - . Correct
81 Option A Option B Option C Option D Answer
English (1599 mm 1601 mm 1600 mm 1602 mm A
Hindi [1599 T3t 1601 T 1600 THHT 1602 Tt
Female railway employees are eligible for maternity leave for ----days
ATEAT AT HHAAR ~=-- 4] B ToT AT FTH B ol T &
. . . . Correct
82 Option A Option B Option C Option D Answer
English [180 days 30 days 60 days 120 days A
Hindi [180 &= 30 o=t 60 Tt 120 fo=1
The high capacity draft gears is
I HHAT Tl STFE AT TF -------- B
. . . . Correct
83 Option A Option B Option C Option D Answer
English Mark-20 Mark 50 CF 21 DF 39 B
Hindi |HT$-20 TS 50 w21 T3Uw 39
How many brake head & block complete in coach under frame mounted brake rigging
3 TOAA(E® KHET) 3 gt &/ 9T &g A $ [hdd 3% 85 AR selid R oId ©.
. . . . Correct
84 Option A Option B Option C Option D Answer
English|8 12 16 18 C
Hindi |8 12 16 18




In air brake stock, BPC becomes invalid, if the rake is stabled in any examination yard

T 9F TiF A, & I1¢ [Fdl TG0 18 # TS oial & STUIGT egar sl 2

85 Option A Option B Option C Option D g;)lg:’::
English |24 hours 36 hours 48 hours 12 hours A
Hindi |24¥<CT 36¥CT 48YCT 1292t
A female Railway employee shall be entitled to maternity leave for
TF AT 3T FHATL ~===-nnn Rt & TIT AGeT 31TFHT U= A sHI e 2

86 Option A Option B Option C Option D gflg:::
English 365 days 120 days * 3days |90 days 180 days
Hindi [365 =T 120 et £+ 3 R=1 |00 T&=¥ 180 =1 P
The maximum diametrical clearance between the pins and bushes in ICF bogie is
FrEATE T # T T G B T SAABAH ST T B 2.

87 Option A Option B Option C Option D gﬁ::f:;
English (1.0 mm 1.5 mm 1.2 mm 1.4 mm
Hindi [1.0 T3t 1.5 Toyefr 1.2 T 1.4 Tl B
Which type brake system, external slack adjuster have been eliminated?
5T UHR B JF YUTell & A6 %Y TAANSD (FAP TSIEed) S &l 9T 4T 22

88 Option A Option B Option C Option D Xg::::
English BMBC UMBC BMBC & UMBC None of the above
Hindi |sQsadr JUHSE! AHAE AT JUANE! [594R7 F e ot 1€
Full form of BLL wagon
AT T FT 9 37 2

89 Option A Option B Option C Option D Xg::::rt
English (Bogie Long Level (Bottom Low Level |Bogie Low Level None of the above
Hindi [F07 o7 daa (S foger Tax |t &7 Sl R 7 T T TE|
The capacity of AR for wagon is
RTET & Tod T DT FAAT Sl o

90 Option A Option B Option C Option D Correct
English|200 lit 210 lit 100 lit 150 lit
Hindi |200fe 210ferex 100fereT 150fereT ¢
The high capacity draft gears is
I FHAAT Tl TTFS BT T === L]

91 Option A Option B Option C Option D g;)lg:::
English |RF 361 RF 401 RF 600 RF 21 A
Hindi |[3T® 361 JATTHR-401 JTTH 600 IRTH 21
What is the capacity of AR tank?

TR 2F T FAAT Bl B-----mmmmv

92 Option A Option B Option C Option D g;gf::
English |200 litrs 75 litres 125 ltrs 300 ltrs
Hindi |200T0eT 75ToreT 12570reT 300fereT A




Brake power certified issued for such Premium Goods rakes will be valid for

W NFTHE A 3T 3F P g I 6T 1 a7 96 9a YHATOUS Sl aegar &t @

. . . . Correct
93 Option A Option B Option C Option D Answer
English |7+4 days 12+3 days 15 +3 days one month B
Hindi |7+4 &= 12+3f= 1243 &= T AE
‘A’ category depot will issue BPC of CC Rake valid up to Km
@ FUT AT AT SF F AT FeTAT ----- F#Ar T I Far B
. . . . Correct
94 Option A Option B Option C Option D Answer
English {4500 km 5000 km 6000 km 6500 km c
Hindi [4500TR&Y 5000 6000fFaT 60000 km
Full form of SPART
TAE & Q0 ¥
. . 3 . Correct
Option A Option B Option C Option D Answer
95 Self Propelled Single Power . .
English [Accident Relief Accident Relief .?.f:i;e sl S None of the above
Train Train A
W ;I aQ‘g d N oo [
Hindi |qoiie R |09 TTAY THRAIST | SR qUea T | a2 8 e o
= feei 2= )
The operating code of bogie open flat wagon for ISO containers is
FTETHI FHeell B Gol Fic 1T THN B TR HIS ST &
. £ : s Correct
96 Option A Option B Option C Option D Answer
English [BRN BFKI BOXN None of the above 8
Hindi |§3RTA EIEE T FrATFITT 33U A § BIE AT
Diameter of BC line branch pipe is
T TR S UTET FT SITHICT BT § --mmeeme
. . : . Correct
97 Option A Option B Option C Option D Answer
English (25mm 20mm 18 mm 16 mm c
Hindi |25/ 20fF+r 18TR=Y 16TR3 Y
Full form of ART.
T &7 faeae &7
. . . . Correct
98 Option A Option B Option C Option D Answer
. 1 |Accident Rescue |Accident Relief . .
English Train Train Accident Relief Tool None of the above
Hindi [39¢oT Ued A (UCAT Ued o |gHeHAT ed 3R 3UUh # @ s 6T
What is the colour code of 'C' group coil spring ?
T FHE HIoAl DA (FT DigeA AT B qU Fevd FAT 82
. . . . Correct
99 Option A Option B Option C Option D Answer
English [Oxford blue White Green yellow c
Hindi |3FORS el [0 LT LI




Permissible variation in wheel tread diameter for four-wheeled trolley on the same wagon on BG bogie wagon
while changing the wheel is
UTeT SEAd AT A TN FTH U TH & AT G AT Ziell B Tod 7Y GIedT IS S H FIAA
100 . . . . Correct
Option A Option B Option C Option D Answer
English(13 mm 25 mm 30 mm 28 mm
Hindi |13 @& 25 Toyeft 30 T 28 TH#Y B
What is the periodicity of the meetings of Town Official Language Implementation Committee?
AT TIHTHT FIETTIT TIATT DT FSHT T SATIHRdT FIT 89
101 Option A Option B Option C Option D gﬁg:::
English |Once in 3 months |Once in a month Once in a year Once in 6 months
Hindi gmﬁw U& A6 & 0F 9N (9 & oF a1 Be 7E # T |
How many Hindi courses are prescribed for Central Govt. employees?
DA THR P FAANG! (Y [haal (6al Teds LRG89
102 Option A Option B Option C Option D Xg:f;:
English|One Two Three Four
Hindi |[U& g7 are I D
According to Official Languages Rules, Tamilnadu falls under which region?
TS =031 & FEN, diAea1g (g & & FHaaid Jdr e
103 Option A Option B Option C Option D ggg\?::
English |Region ‘C’ Region ‘B’ Region ‘A’ None of the above
Hindi (77 &7 g w F & A O ®Ig off 7T
Into how many Regions Indian states have been classified, according to Official Languages Rules?
THT AT & FAAR, HRA & ToTT BT [hae &7 H q319d (a7 79T 29
104 Option A Option B Option C Option D gflg:::
English | Two Regions Five Regions Four Regions Three Regions
Hindi &7 &0 o o A o §
According to Official Languages Rules 1976, Andaman & Nicobar Islands falls under which region?
TSHT T9GH 1976 & AR, AT AR @HIER G1T ToE g &F & Jaaid Jar e?
105 Option A Option B Option C Option D ggg:::
English [Region ‘A’ Region ‘B’ Region ‘C’ None of the above
Hindi |[&7 T EE g 4 TR O FIg o TET
Hor\:v many First prizes are given for writing more than 10,000 words in Hindi in a year under Incentive
Scheme?
et St & d8d TF a9 A 184l A 10,000 ¥ HAF T2 Tor@w B Y [Fhaa ¥YH REHR 7Y 1
?
106 Correct
Option A Option B Option C Option D Answer
English|One Two Four Three
Hindi |[T& qT Icy areT ®




Which form of numerals are to be used for official purposes of the Union?

AT & IO BIHBS A FHT & [6T &7 H7 3UIET fvar Jrm 22

. . . . Correct
Option A Option B Option C Option D
107 Answer
., |Devanagri . . International form of
English Numerals English Numerals American Numerals Indian numerals ;
Hindi |[399RTY 36 JINIT 3R AR FH S
Who is responsible for the violation of Section 3(3) of Official Language Rules, 1963°?
TIATHT T=9H, 1963 T G 3 (3) T o & (oI Bl OFAGR o9
Option A Option B Option C Option D gg;‘f”e::
108 . pp—-
. . |The Officer signing e
English (Head of the office such Documents Head of the Division Head of the Zone
Q@ gEArEs 9T . B
Hindi |[FTATT FT TETH| [FTARET FIA aTd |HSA TT IR EIE]
FTAHT
In which language Roof Boards of Coaches are to be exhibited?
TRdT 9T F BT F BA S UGG [HAT ST 29
Option A Option B Option C Option D ng:::
109 Trilingual Form Trilingual Form Trilingual Form Trilingual Form
English | (English, Regional |(Regional Language, |(Regional Language, (Hindi, Regional
Language & Hindi) |English & Hindi) Hindi & English) Language & English)
oy =7 & ey w7 & . o =7 & ( =®E,
Hindi |G, &¥ | @ smom sy Wéa %_grqa% (mg-“ | B s s
o SR RED |3 B : ;

110

When the Constitution was adopted, how many languages were included in the Eighth Schedule initially?

S WY T SAATIT AT AT, A7 Y& A SGAT SFGAT H [ohawil HTST Bl AT (6T ITGT TP

. . ) . Correct
Option A Option B Option C Option D Answer
English |Fourteen Fifteen Eighteen Twenty-two A
Hindi [d® UgE FETE LT




